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1. Introduction
This document provides a text proposal for E-UTRA RF system scenarios TR section 5.1.1, merging the proposals in R4-060376 and R4-060380.
2. Text proposal
5.1.1 Simulation description

Uplink and Downlink are simulated independently. Degradation of victim system will be obtained by comparing capacity/throughput simulation results of single operator scenario (without external interference) to the multi operator case.
In the following sections the principle downlink simulation flows are described, taking the current simulation assumptions into account.
5.1.1.1 Downlink LTE interferer WCDMA victim

6 1.
Run WCDMA snapshot simulator procedure [3]. LTE BS TX power is set to the defined maximum TX power (assumes all RB in use). All LTE base stations are considered as a source of other system interference (Iother). Iother = sum over all other system cells (interference power into WCDMA bandwidth including ACIR)
7 2.
Collect statistics (capacity reduction in percent relative to the reference capacity without external system interference, capacity is defined by a number of satisfied speech users).

7.1.1.1 Downlink LTE interferer LTE victim

For i=1:# of snapshots

1.
Distribute terminals randomly throughout the system area such that to each cell within the HO margin of 3 dB the same number K of users is allocated.

2.
Calculate DL CQI for each UE. The CQI value per resource block is equal to C(RB)/I(RB), where:

· C(RB) = power of resource block * max (pathloss including shadowing, MCL)

· I(RB) = sum over all other cells (power of resource block * pathloss including shadowing) + sum over all other system cells (interference power into this resource block including ACIR) + N
· Note: in case of the 5, 10 MHz LTE victim case, the BS ACLR (ACIR) is modelled as flat, i.e. the same ACIR is used for all RB.
3.
Perform PS operation for all cells:

· Loop over all cells

· Loop over all UEs attached to the cell

· Scheduler assigns modulation and coding scheme on the basis of calculated C/I  (CQI) value.

4.
Calculate actual intra/inter system interference to get the actual C/I and bit rates for each UE.

· Calculate achieved throughput on the basis of C/I (CQI) value on per RB basis, including intra- and other-system interference (ACS/ACLR effects).
· Use the actual C/I to throughput mapping (Annex A) to determine the obtained throughput for the UE.

5.
Collect statistics (throughput reduction in percent relative to the reference throughput without external system interference).
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